Theoem 97 (Stong Nlklelnsarz)

Ler kK be a\gcbm\cc’lv cored

Grd Tcelcls —-xy) 4m dec).  Then
T(VE)) =JT

Frost-

Mibed)s Ndiklensate, = LT TN < T
For dhe cwavese | lek FAT , S0 Fhel,
Then £"a)=0 \fae,\/CI) $o altyg FL)=0 VeV (T)

Gnd (v, 1O

onventon t IF we don't speafy ofterwie they
“Nullsfellengatz = Strong  Nulstele nest =2

Lemney 9,9

IF Tekle,. - xaJ redee) 1del, then JI =T,
oot
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Conversely, |§ Péﬁ/ Then p"‘eI for sone L.

Sge T is redeal, W€ 9ok pe L. D)




Thaoen 9.9, (ol \varely aaespnienc)
let K bc Gy Field.
(1) The maps
T:vanety W > el T{W)  aad
V: idel T +—> Vvaely VA)
are inclwn reverseq | e
TeT = VEI2VT,) g
WiW, = I(W\>>I(Wz_)
(i) For any varety W
VIZ(w)) = W (so T s :Q)cchvc,)
Foe any 1dece) )
v(IT) = V(T)
([i)VE K s Zlacbrucally clom Then
I ?Vc’mcﬁq} — Jrwded) decls  ard
Vi bredee) e (§ —> 7\/0’6(‘76(3
are Mdoswn—rcvtrrmj IDUC‘J‘W‘S and
T =Vv v =L
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(D Let T, T cklc _x] 1decly Tha
V(T)={ack”: po)=0 VpeJ,?
< {ack”: ple)=0 V(z:’.]'(cfz,} = \(7T,)
Let W, cW, < k™ \arches, Then
W)= {peklc, ] plar=o VaeW, §
c {pelc[x, x): pl)=0 VaeW,cW $ = 1dwW))
(i) Ler W=Wp,_p)eck" be & wenely,
IF cew, flen pa)=o VpeET(W) => a&c V(T (W)
IF ceVCIV), Yen pl)=0 VpsTiw), so
N puteokn  pLY=_=pl)=0 = GeW.
let Jekle —ox] be an ideml. Then
YU7T) = {ack": VpeT meM pMa)=0?
=fack”: XrpeT p/a) :Q} =V(T)
smz\; p ) =0 & pr)=0
(“5) lemnea 3.6 = LW 8 & mic) iks)
o any =licty \'\// SO
T Sverehe 3 = Srzdical 1de<ls?
'S well &Fined The nep
Vi S@dicel deslsT—= Svenctiess
'S wWdl deFined Gg 4 rostictun Msp Zic.. ealy
[‘}}\r donain C)\an)c) fon, S\)Cé‘S} Yo bl eals § )



Qy(ix)/ VLTIW)=W £ L) vertefes W, 50
T In)jechve
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e V u B Jefmvene oL,
« T 15y e rghtinwete of \v
It reman b Show LNV(TDN=T B, rdic) rdell J.
Here we peed He Ce‘j'tb‘c'a”y cbed Fe)d cssonphon.

Nulsichengst = (Thoeen 972) = LTMT) =JT .
Lemne 3.8 = {T=T. o

Pfgﬁoghoq 910 (Radical r*\unbufkp>
Lem K be an drbier, Feld,
Letr T=<p,,_, Pe> clclx,, . x] bc dnides), Then
felI ¢ lec PP, 1-yF> < Kl %0 y]
Proot
" Repect Phe lathr hIF of the paoF ofF Hhibet's
Nullekeasara  ( rofe algebravcal) y chied | pot m?,umc))i
< <P by, I-yF>
= 1= g4p +- t94sFs t C/f/)_ﬁp)/ %ék&’*"’\/iﬂ

= £ = % Prt-~+Feps q':‘;é K. «7’9\]
= FeldT



"o’ Ler FIT 5o FET A sone neN
Siee. L € PP V9F> < l([w\ﬁ/kq/gj/\csei‘
= 4"F™ + L-yhe™
= :j“F"' «( l—y£) (1+yF+ T ac e 3""F"*>
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k>unple 9.1
Letr 1‘:<y32+232/ W xte) > < QEY/JJ.
(1) Queston: 1s  F= Yy-xtul onlancd in {T7?
A\gcbmnc Solotion
Comphmg G Meduced Grsbnen bess  oF
IJ= <oyt 2yt ALl I b Z(g»x’a—\)><'-l<[><,_9,?:]
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and Hen redang The fulny @b~ baoy )




Geoneine  solution:
Consger~ T Flciorizctyng
g = ), <= )
L& X' =20 fr e, then YRL#O
Hence (Tmf e 1a Gl Felds \-5
Vs, x1n2 )= V() @) N V(2 )‘}
= (Vixn) 0 st’*)) 0 V(2
_ \/[31,) N \/( >L>
= Vliy) n V()("'—\) s
= \/(9/“1’0 X =\ X =\
and £ =9t vanvhes on V(Y,x24) Jo
Fe 1 (V(g),xl-\)):;j.(\/(I)):
(D) Queston: What s The miamel meN st FMeT’
A\‘jebrmc $oluhpn ©
T hes ¢ Grobnes buny G?‘{gl/ WLt § in ler.
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Pe=0

5> the Miaimg]  expofe™ ¢ m=3,



é’comd'nc heorste (no’“ a Ngorou Zrgument .’)
We  observed
VITY=Wy, 1) = (&), 0)3c ™
However the  (Univarck) 9enchsrs
Po=y? @d pm )T e T
Vomgh to  ordes L cv ("3\/0), e.
PL(tV) = po(E\Y=0 , PylE))#0O
p.(o) = p’/0) =0 pMyFO
HCo/lShc,: Pec e all polyndnic)s o€ L (a)sD m)hvandg)
Véansh 15 orde~ 22 at (£1,0) in x or in y
Then we  congdor how powes of £ vzauh C‘TQ:)/O)'.
+= I, L(_j—\)(x*g
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HO\U Yo ompte a basis  for ﬁq
W &\\ — lets
< Wil postpone Phe generml Case fu “ler
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ot solve.  The Smyid‘ case L= <P > nrow,

P(Z)Poswhon J.12

Let pekls .~ x,) dnd T =<p>. Leb

| pP= c- P,«‘-,; F:"/ (,é\(/ o,z \ pb-é\dk. ~xn)
be. He fuckeizarun of p ot Q™ Ieredvable po\ynoml{,
Thea T = <pr—Pu> .

Pfob-c M’xfo(\m%s |

Pobre{T sne p | (p-Pn)
s> <pPa> <.

For fhe Con\fcfg(_/ let &E , So fheT
Thea PM’Q-P/ SO exch iredvaible fector P.
dvdes €™ = plf for ek L = P Pm)F B

Wefintion 913
*let peKlxi—xa] . A redochon  or Suet e pat
of p is a polyema) P, EWlx— %4 ] such thet
P> = < Pryg>  (onls vige Gp boa ©nshant)
A Polyremal  p y  Suar— e 3 @:<p>.




Defnhon 904
Let P/%C’KCK\«-;XIJ. A Polyno mi<) helclx, - xa
s & gretot _@rmn dvsoc of pndq  if
() hlp oad hlg
() iF Flp ad Ag , Then plh
We will deaste h:go)zp/q/)
Note:  ged P4) 15 oy Lige op Ty 4 bt fadds—

P(bfos:ﬂur\ ALY
Let K be a Feld oF Cherecterishe & {i‘c- ®<'K>
Then For any f14’>>/ pe-kfkp_-,x,f_}/

P
Pres = 9d( p. g&/ .y g—fﬂ)




